BISHOP WESTCOTT GIRLS' SCHOOL, DORANDA
CLASS - 11 (ABACUS WORKSHEET)

Q.1.  Write the formula for the following

a. +2=

b. +4=

C. +3=

d. +1=

Q.2.  Solve the following:
a b C d e f g h i j
10 50 80 20 60 50 10 50 20 80
50 40 -50 50 20 30 30 40 10 -30
20 -10 10 -10 -50 -50 -20 -30 -10 10

Q.3. Match the following :

A B
a. 2 i) 4
b. 3 i) 2
C. 1 i) 1
d 4 iv) 3




Q.4. Solve the following:
4 6 9 8 5 8 7
5 -5 -4 -5 4 -5 -5
-2 3 1 1 -3 5 2
9 6 2 3 5 2 6
-5 3 2 -2 -5 2 -1
4 -5 5 1 5 -2 1
7 8 6 9 2 6 9
-3 -2 -5 -4 -2 3 -9
3 1 5 4 5 -1 9

Q.5. Fill in the blanks:

a. The value of lower bead in Ten’s place is

b. The value of upper bead in one’s place is .

C. Our small Bors is

d. The value of lower bead in one’s place is

e. The value of upper bead in Ten’s place is




